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Use ratio and rate reasoning to solve real-world and
mathematical problems.

1. A survey showed that 4 out of 5 students own 2. A survey of Mr. Thorne’s class shows that
a bicycle. Based on this result, how many of 5 out of 8 students will buy lunch today.
the 800 students in a school own a bicycle? Based on this result, how many of the

720 students in the school will buy today?

3. The ratio of the number of baskets made by 4. In the school choir, there is 1 boy for every
Tony to the number of baskets made by Colin 4 girls. There are a total of 11 boys. How
is 2 to 3. Tony made 10 baskets. How many many girls are in the choir?

baskets did Colin make?

5. Liberty Middle School has 600 students. In - 6. Pine Hill Middle School has 300 students.
Anna’s class, 3 out of 8 students walk to In Zoey’s class, 2 out of 5 students belong
school. How many students at the school can to a club. How many students at the

be expected to walk to school? school would you expect belong to a club?



Solve real-world problems involving rates and unit
rates by using bar diagrams, double number lines,
and equivalent rates

1-3 Page:71

Use any strategy to solve each problem.

1. Mr. Anderson is ordering pizzas for a class 2.

pizza party. Pizza Place has a special where
he can buy 3 large pizzas for $18.75. At
Mario’s Pizzeria, he can buy 4 large pizzas
for $22. If he needs to buy 12 pizzas, how
much will he save if he buys the pizzas from
Mario's Pizzeria instead of Pizza Place?

(Exampie 1)

3. Melissa is buying party favors to make gift
bags. Supplies LTD sells a 5-pack of favors
for $11.25 and Parties and More sells a
3-pack of favors for $8.25. At these rates,
how much will she save if she buys 15 favors
from Supplies LTD than Parties and More?

(Example 1)

Skylar and Rodrigo each recorded how far
they traveled while skateboarding. Skylar

traveled 65 feet in 5 seconds and Rodrigo
traveled 108 feet in 8 seconds. How much
farther did Rodrigo travel per second than

Skylar? Example 1)

4. Tara can type 180 words in 4 minutes. At this

rate, how many words can she type in
10 minutes? (Example 2)




2 | Solve real-world problems involving rates and unit 11
rates by using bar diagrams, double number lines,
and equivalent rates

Page:76

1. Open Response A barge traveled 120 miles
downstream in 8 hours. Then it traveled

100 miles upstream in 10 hours. (Lesson 8)

A. How did the rate of speed downstream
compare to its rate of speed upstream?

"

B. What was the difference between the
rates of speed?

¥ - -




3 | Find the percent of a number by reasoning about 1-8 Page:111
percent as a rate per 100 and by using bar
diagrams, ratio tables, equivalent ratios, and double
number lines.

y ~ \
Use any strategy to solve each problem.

1. The graph shows the career interests of the 2. The graph shows the favorite activities of

students at Linda’s school. Suppose there campers at a summer camp. Suppose there
are 400 students at the school. How many are 300 campers at the camp. How many
of them want to be an athlete? (Exampie 1) campers favor fishing? (Exampile 1)

Future Careers Favorite Camp Activities

Other

¢ Fishing
Teacher 14% Swimming
23% 25%

Undecided
30%




Use any method to find the percent of each number. (Examples 2-4)

3. 15% of 240 = 4. 65% of 180 = 5. 250% of 82 =

6. 150% of 44 = 7. 015% of 350 = 8. 0.4% of 168 =




Apply prior knowledge about division and
reciprocals to divide fractions by whole and mixed
numbers. *Solve problems by using the standard
algorithms for addition, subtraction, multiplication,
and division to compute with multi-digit decimals.

1-7 Page:185

1. The drama teacher is making bandanas for
costumes. She is cutting % yard of fabric into

6 bandanas of the same size. Write and
solve an equation to find how much fabric
there will be for each bandana. (Exampile 1)

Divide. Write in simplest form. ([Examples 2 and 3)

4. 62 8=

4- —_—
3.25?4— 3

6. 3=+ 1

)
N |-
Il
N

s

N .

2. A landscape designer has % ton of muict

divide equally among 8 customers. Write
and solve an equation to find how much
muich each customer will receive. (Examp

5.4—2-—:-6=

2. Dol on



4 | Apply prior knowledge about division and 5-8 Page:153
reciprocals to divide fractions by whole and mixed
numbers. *Solve problems by using the standard
algorithms for addition, subtraction, multiplication,
and division to compute with multi-digit decimals.

Find each product. [Example 4)

9. 0.025 X 1.24 = | 6. 1715 X 1.062 =

Find each quotient. (Example 5)

7. 32674 - 0.016 = 8. 3825 +025=




5 | Graph rational numbers in the coordinate plane, 1-13 Page:235
Recognize that the coordinates of points reflected
across either axis differ by the sign of one of the
coordinates

Identify the quadrant in which each point is located. (Example 1)
(42 2 (63}
2 (43) o (-2

5. Identify the axis on which the 6. Identify the axis on which the

point (-% 0) IS located. (Example 2) ; point (0. 6-2-) is located. (Example 2)
Use the coordinate plane. ldentify the ordered pair Y
that names each point. ([Example 3) 15
+
7 A ALl
8 B C1=2 |9 10] | 112 |x
-1
9.C St 1




Use the coordinate plane. Identify the point for y
each ordered pair. [Example 4) 2 2
10. (-%--;- ; e
".(_1'1%) 2 | 10| | 1| 2 |x
S ” X s
12. (-2, -13) 2
&
- We *
LEA RN «
2 oUr -
MISTAKES
= | -y

13. Graph A(-;-. 1). (Example 5) 14. Grid Graph x(—% 2).
y y
2 2
1 1
" -y r x -2 -1 |O 1 2 Ix
-1 -1
2 2




6 | Order rational numbers.

1-10

Page:223

Graph each set of rational numbers on a number line. (Example 1)

1. [-0.9, -2%. 0.25, -%

B A I
|

N\’

2. {-% -14, -1%. -0.15]

rd

N S 2 s e e a e s o e o o o

3. Mammoth Cave in Kentucky has a minimum | 4. A scuba diver was at a depth of -80-2'- feet

How many feet did the scuba diver travel if
the diver traveled to the surface of the

0cean? (Example 2)

elevation of —124.1 meters. Suppose a hiker

traveled to the bottom of the cave. How

many meters did the hiker travel? (Exampie 2)



Fill in the O with <, >, or = to make a true statement. Example 3)

5. —024( ) ——% 6. —§ ()-o7e

£ T S e 2
7. —45-()-416 8. —552( )-5=

Order each set of rational numbers from least to greatest. (Example 4)

9. (425, -4 —4 %} 10. [-155, 1505, —132



Describe a ratio relationship using correct Page:11
mathematical language.

1. In Suri’s coin purse, she has 6 dimes and 2. In a trivia game, Levi answered 8 questions
4 quarters. Martha has 5 dimes and correctly out of 10 turns in the game. He
3 quarters. Suri thinks that the ratio of dimes then answered the next three questions
to quarters in both purses is the same correctly. He reasoned that because he
because they each have 2 more quarters added 3 to both the total questions and his
than dimes. Is the same ratio of dimes to correct responses, that the ratio of correct
quarters maintained? Justify your response. answers to total questions remained the
(Example 1) same. Is he correct? Justify your response.
(Example 1)
3. Riley needs to make fruit punch for the 4. A small fruit basket contains the fruits
family reunion. One batch of punch has the shown. A large basket has the same ratio of
ingredients shown. If the punch bowl holds fruits as the small basket. If the large basket
27 cups, how many cups of orange juice will has 42 total pieces of fruit, how many are
she need to keep the ratio in a full punch pears? (Example 2)
bowl the same? (Example 2)
Type of Fruit ‘ Amount
item I Cups Apple 6
Cranberry Juice - Orange 5
Lemon Lime Soda 1 Pear 3
Orange Juice 2
Pineapple Juice 2



5. Mrs. Santiago is buying doughnuts for her 6. A small batch of trail mix contains 2 cups of

office. Each box contains 6 glazed, 4 cream raisins, 2 cups of peanuts, 1 cup of sunflower
filled, and 2 chocolate flavored doughnuts. If seeds, and 1 cup of chocolate coated

there were 20 total cream filled doughnuts, candies. A large batch has the same ratio of
how many chocolate doughnuts did she ingredients as a small batch. If the large
buy? (Example 3) batch has 8 cups of peanuts, how many

. cups of sunflower seeds are in a large
. batch? (Example 3)



Show a ratio relationship between two quantities
using tables of equivalent ratios and double number
lines.

1-8 Page:21

Use any strategy to solve each problem.

1. Jayden’s snow cone machine makes 3 snow
cones from 0.5 pound of ice. How many
snow cones can be made with 5 pounds of
ice? (Example 1)

3. The world record for the most number of
speed skips in 60 seconds is 332 skips. If
the record holder skipped at a constant ratio
of seconds to skips, how many skips did she
make in 15 seconds? (Example 2)

2. Nyoko is having a pizza party. Two large
pizzas serve 9 people. How many large
pizzas should she order to serve 36 guests
at the party? (Example 1)

4. A recipe for homemade clay calls for 6 cups
of water for every 12 cups of flour. How
many cups of water are needed when
4 cups of flour are used? (Example 2)



5. Adrian decorated 16 cupcakes in 6. A comic book store is having a sale. You can

28 minutes. If he continues at this pace, buy 20 comic books for $35. What is the

how many minutes will it take him to cost of 8 comic books during the sale?

decorate 56 cupcakes? (Example 3) (Example 3)

7. A certain store is selling packages of 8. Open Response Ben made trail mix for

10 pencils and 4 pens for back to school. his camping trip that contained 8 ounces
The store manager wants to make a larger of peanuts, 6 ounces of raisins, and
package in the same ratio. If the large 10 ounces of chocolate candies. He wants
package has 10 pens, how many pencils are to make a larger batch for his next camping
in the large package? (Example 4) trip with 28 ounces of peanuts. How many

ounces of raisins will he need?



Graph a ratio relationship on the coordinate plane.

1-5 Page:27&28

1.

Lulah is buying beach balls for her beach
themed party. Each package contains

6 beach balls. Generate the set of ordered
pairs for the ratio relationship between the
number of beach balls y and the number of
packages x for a total of 1, 2, 3, and

4 packages. Then graph the relationship on
the coordinate plane and describe the

2. A sloth travels about 7 feetl every minute.

Generate the set of ordered pairs for the
ratio relationship between the total distance
traveled y and the number of minutes x for a
total of 1, 2, 3, and 4 minutes. Then graph
the relationship on the coordinate plane and
describe the pattern in the graph.

(Exampies 1 and 2)

pattern in the graph. (Examples 1 and 2) Stoths
Beach Balls ¥
28
24X
24
i 20
20
S . =
K g =
S = ,5, >
g s
8
= |
- - 1
o 2 3 - | | —
Number of Packages o 2 = a
Time (min)
3. Two friends are making scrapbooks. The number of photos ® Lexi
Lexi and Audrey place on each page of their scrapbooks is ® Audrey
shown in the graph. Describe the ratio relationship for each 36 y
person. 2 32
s 28
£ 24 *
S 20
,E 16 ? 4
12 I—J
£ 8
- r—*
0 1 2 3 45 6 7 x

Number of Pages



4. Multiselect Lacy is running laps around the track. The time
in minutes and the number of laps ran are shown in the graph.
Which of the following is true about the ratio relationship
shown in the graph?

| Every 4 minutes, Lacy ran 1 lap.
| Lacy ran 8 laps in 2 minutes.

| It took Lacy 1 minute to run 4 laps.
| In 16 minutes, Lacy completed 4 laps.

| Based on the relationship, it would take
Lacy 20 minutes to complete 5 laps.

5. @ Identify Structure There are 4 quarters
for every one dollar and 10 dimes for every

dollar. Without graphing, would the ratio of
quarters to dollars or dimes to dollars
appear to have a steeper line? Explain your
reasoning.




10 Compare ratio relationships that are shown 1-3 Page:35
using different representations.
1. Cereal Brand A advertises that they have =0 Br and'C
60 raisins in their 24-ounce box of cereal. as 12
The advertised ratio of raisins to ounces for 2 a0 -
two other cereal brands are shown in the =3S
table and graph. Which brand advertises the e 30 T
greatest ratio of raisins to ounces of cereal? D a2
. 820 -
Justify your response. (Example 1) § s
Brand B Z 0
5
Ounces of Cereal 6 12 20 24 x|
—— : © s 10 152025303540
Raisins 18 36 60 72 Ounces of Cereal
Alex

2. At the gym, Alex spends 24 minutes doing
resistance training for every 30 minutes
spent doing cardio exercises, Carisa spends
15 minutes on resistance for every
20 minutes on cardio, and Manuel spends
14 minutes on resistance for every
15 minutes on cardio. Which person has the
greatest ratio of minutes spent on resistance
to minutes spent on cardio? (Example 2)

Resistance (min)

Cardio (min)

Resistance (min)

Cardio (min)

Manuel

Resistance (min)

Cardio (min)



3. Open Response Mrs. Quinto is comparing the Calories in different types of
bread. Wheat bread has 150 Calories for every 2 slices. The Calories in
two other types of bread are shown in the table and graph. Which bread has

the greatest ratio of Calories to slices? Rye Bread
White Bread

Slices | Calories

2 160
- - 320
6 480




10 Compare ratio relationships that are shown 4-8 Page:36
using different representations.

N\

4. Mrs. Gonzalez wants to hire a catering company for her daughter’s
quinceanera. The ratios of the cost per person for a child and an adult for
two different companies are shown in the table. Mrs. Gonzalez is planning
on 25 aduilts and 12 children adding the party. How much less will it cost for
her to hire Planning Pros than Party Time?

Party Time Planning Pros
9.00
7.50

Cost per Adult ($) 10.50
Cost per Child ($) 6.00

S. Charlie, Beth, and Miguel all babysit kids in their neighborhood. The table
shows the number of hours and the amount each of them eamed last night.
If each person babysits for S hours next weekend, which person will earn
the most money? Use a coordinate plane if needed to solve.

Beth

Charlie

Miguel

Number of Hours 3 45 4

Total Earned (%) 28.50 42 .00 40.00



an . an example of a ratio relationship that
relationships can be described with words or you have seen outside of school. How was

they can be displayed using bar diagrams, the ratio relationship displayed, and why
tables, and graphs. Which display is more was the relationship displayed that way?
advantageous to use when comparing ratio

relationships? Explain your reasoning.

@ Find the Error Avery wants to order new practice o Shins Galore

T-shirts for her soccer team. The ratio of the total cost to : ;ﬁ:‘&

the number of T-shirts purchased for three different stores
is shown in the graph. Avery says that the shirts will cost

less from Shirts Galore because the graph is steeper than
the graphs of the other relationships. Find her mistake and

correct it.

Total Cost ($)
o 5B EZREZES

2468012461820
Number of T-Shirts



11 Use ratio reasoning to convert between 1-10 Page:55
customary units of measurement

D

Use any strategy to solve each problem. (Examples 1and 2)

1. Mrs. Menary made 4-;— quarts of lemonade 2. A class walked 2.5 miles for a walk-a-thon.

for a school party. How many fluid ounces of How many yards did the class walk?
lemonade did she make?

3. The Martinez family has -3- gallon of orange 4. A grand piano can weigh -;— ton. How many

juice in the refrigerator. How many cups of | ounces can a grand piano weigh?
orange juice are in the refrigerator? |

5. A female hippopotamus can weigh 48,000 @ 6. At soccer practice, Tracey's best kick
ounces. How many tons can a female | traveled a distance of 1,200 inches. For how
hippopotamus weigh? | many yards did she kick the ball?



7. An elephant can drink up to 6,400 fluid

ounces of water a day. How many gallons of
water can an elephant drink per day?

9. One quart of strawberries weighs about
2 pounds. About how many quarts of

strawberries would weigh % ton?

8. A recipe for ice cream calls for 56 fluid

ounces of milk. How many pints of milk are
there in the recipe?

10. Open Response A mini fruit juice box
contains 4 fluid ounces of juice. You

need 2-;- quarts of fruit juice. How many

mini fruit juice boxes will you need?



12

Model percents using 10 x 10 grids and bar
diagrams.

1-8

Page:83

For Exercises 1 and 2, identify the percent rcptm;ned by each 10 X 10 grid. (Example 1)

1.

3. In a school survey, 12% of the students
surveyed said they like camping. Shade
the 10 X 10 grid to model 12%. (Example 2)

2.

4. Of the students in the lunch line, 9% said

they were buying strawberry milk. Shade
the 10 x 10 grid to model 9%. (Example 2)




For Exercises 5 and 6, identify the percent represented by each bar diagram. (Example 3)

5. 6.
0% 50% 100% 0% 50% 100%
Test Practice
7. Shade the bar diagram to model 25%. 8. Open Response How can you use a bar
(Example 4) diagram to model 45%?

0% 50% 100%

1 1 T B




————————— —

13 Relate fractions, decimals, and percents by using | 1-13 Page:101
place-value reasoning and understanding a
percent as a ratio that compares a number to
100.

7N
Write each percent as a fraction in simplest form and as a decimal. (Example 1)

1. 45% 2. 72% 3. 80%

Write each fraction as a percent and as a decimal. (Examples 2 and 3)

3 3 )
& 5. 13 63

Write each decimal as a percent and as a fraction in simplest form. (Example 4)

7. 0.89 8. 0.82 9. 0.65
10. About 0.41 of Hawaii's total area is water. 11. Over the course of the basketball season,
Write 0.41 as a fraction and as a percent. Zane's free throw average went up by 30%.

Write 30% as a fraction and as a decimal.



12. There are 25 students in Muriel’s class.
Write a percent to represent the number

of students that have brown eyes. Then

| 13. Multiselect Which of the following are

equivalent to 85%7? Select all that apply

write the percent as a fraction and as a 0.85
decimal. 85
100
Eye Color | Number of Students 0.8
Blue 6 '
17
Brown 10 20
Green 85
Hazel 2
14 Use 10 x 10 grids and bar diagrams to represent | 1-6 Page:91

percents greater than 100% or less than 1%

Identify the percent represented by the 10 X 10 grids. (Examples 1 and 3)

|

2.

o~ \V N\ J1}




'3

5. The size of a large milkshake is 1.4 times the size of a medium milkshake.
Write a percent that compares the size of the large milkshake to the size of
the small milkshake. Then draw and shade 10 X 10 grids to model the
percent. (Example 2)

6. The Freedom Tower is 1776 feet tall. Mr. Feeman’s students are building
a replica of the tower for a class project that will stand 4.44 feet tall. Write

a percent that compares the height of the replica to the height of the

actual tower. Then shade the 10 X 10 grid to model the percent.




15 Find the whole, geven the part and the percent | 1-8 Page:127
by using bar diagrams, ratio tables, equivalent
ratios, and double number lines.

Use any strategy to solve each problem. (Examples 1and 2)

1. Yolanda's club requires that 80% of the 2. Action movies make up 25% of Sara’s
members be present for any vote. If at least DVD collection. If she has 16 action DVDs,
20 members must be present to have a vote, how many DVDs does Sara have in her
how many members does the club currently collection?
have?

3. Marcus saved $10 because he bought a 4. Of the students in the marching band, 55%
baseball glove that was on sale for 40% off. plan to go to the school dance. If there are
What was the original price of the baseball 110 students in the marching band that are
glove? going to the dance, how many students

| are in the marching band?



5. Melcher used 24% of the memory card on his 6. Mallorie has $12 in her wallet. If this is 20%
digital camera while taking pictures at a family of her monthly allowance, what is her

reunion. If Melcher took 96 pictures at the monthly allowance?
family reunion, how many pictures can the

memory card hold?

-

7. The table shows the number of minutes Tim 8. Open Response The number of sixth
has for lunch and study hall. He calculates that grade students accounts for 35% of the
these two periods account for 18% of the total number of students enrolled in
minutes he spends at school. How many middle school. There are 245 sixth grade
minutes does he spend at school? students. How many students are enrolled
in the middile school?
Period ‘ Number of Minutes 'S
Lunch | 45
Study Hall 45 R




16

Apply prior knowledge about multiplication, 1-10 Page:165
division, and operations on multi-digit numbers
to divide whole numbers by fractions.

Find the reciprocal of each number. (Exampile 1 and Example 3)

1 1
1. - 2. . 3.8
4. What number multiplied by % has a S. What number multiplied by % has
product of 17 (Example 2) product of 17 (Example 2)
Divide. Write in simplest form. [Example 4)
. -2 _ 5 Sy
6.374- 7.4.5- 8.6.3-




9. Marie is making scarves. She has 7 yards of fabric and each scarf needs

-:- yard of fabric. Find 7 = %. Then interpret the quotient. (Example 5)

vy < )

10. Roberto is at a tennis day camp. The coach

has set aside 2 hours to play mini matches
that last % hour. Find 2 = % Then interpret
the quotient.

17

Apply prior knowledge about multiplicationand | 8-13
division with whole numbers and the division of
whole numbers by fractions to divide fractions
by fractions.

Page:176

8. A teacher is making bags of different colors of modeling clay.

The table shows the amount of each color she has available.
Each color will be divided into %-pound bags. How many more
bags of purple can she make than yellow?

Color | Weight (Ib)

Green
Purple
Red

Yellow

alw winv &Fla ~i=



9. Mateo is making bookmarks with different colored ribbon. The
amount of each color he has is shown in the table. Each bookmark '

3

will be -;—-yard long. How many more orange bookmarks can he make | Aqua r
than aqua bookmarks? | ' 9
Orange o

T

Yellow %

10. @ Make a Conjecture Can the quotientof = 1. The length of arace is 1—96 mile. Andrew
two pgsitive fractions be less than 1? wants to place a flag every % mile. He has
Explain. 3 flags. Does he have enough flags?

Explain.

12. @ Persevere with Problems Lannie has 13. Write a division problem involving the
division of two positive fractions whose
quotient is equal to 1. Show that your
problem is correct.

5-;— cups of chocolate chips. She needs '
1% cups to make one batch of chocolate
chip cookies. How many batches of

chocolate chip cookies can she make?



18 Use positive and negative numbers, as well as 0, | 15-20 Page:198
to represent quantities in everyday life.

15. Rodney is performing a science experiment. The table

T" arat 2
shows the temperature of two liquids he is using. Graph e mpu ItUre
the integers that represent the temperatures on a number A —4°C
line. Which beaker's liquid is closer to 0°C? Explain. B 2°C

=5t
—_ -l -3 -2 -1 O 1 2 3

16. Sydney owes her mother $5 and her brother owes her mother $7. Graph the
integers that represent the amount they owe their mother as a negative integer
on a number line. How much more will her brother have to repay their mother
than Sydney? Explain.

17. @ Use Math Tools Explain how to find the 18. At midnight, the outside temperature was

distance between 1and —3 on a number O°F.
line. a. By 6:00 A M., the temperature had

dropped 4°F, and then the temperature
raised 10°F by noon. What is the
temperature at noon?

b. What represents zero in this situation?
Explain.



19. Create Describe a real-world situation that

can be represented by a negative integer.
Then write the integer.

20. ({7 Justify Conclusions Craig has $28 in

his checking account. He wants to make a
withdrawal of $30. Will his checking account

balance be represented by a positive or
negative integer after the withdrawal?

He wants the hole he is digging to be as
deep as the plant is tall. What integer
represents the location of the bottom of the
hole? How does this compare to the height
of the plant? Example 2)

Justify your conclusion.
> &( U / >

. NN\
19 Understand that the absolute value of rational 1-14 Page:203

numbers shows their distance from 0.and how

to order these numbers.
Find the opposite of each integer. (Example 1)
1. -3 - N 3.6
4. Chad is planting a plant that is 4 inches tall. 5. A hill on a dirt bike course is 5 feet tall. The

valley below the hill is as deep as the hill is
tall. What integer represents the location of
the bottom of the valley? How does this

compare to the height of the hill? (Exampie 2)



Find each value. (Examples 2 and 3)

6. —(—15) = 7 —(—-M) = 8. —[-(-7)=

9. —[—(—1)] = 10. —[—(59)] = M. —{-(100)] =

12. A mountain climber started at sea level and ' 13. The temperature was —5°F when Tiffany

descended down a cliff. Her location can woke up in the moming. By noon, the

be represented by —75 feet. How many temperature was 0°F. How many degrees
feet did the mountain climber travel? did the temperature change? (Example 4)
(Exampie 4) |

I14. Multiselect Which of the following represent opposites?
—4and4 _—1and1

‘ -2 and -1 Oand1 ’4
'—7 and -8 "~ 110 and —10 (\\\ \
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integers and absolute values.

l. After playing 18 holes of golf, John's score 2. The record low temperature for Buffalo,

was —4 and Terry's score was —1. Write an New York is —20°F. The record low s
inequality to compare the scores. Then temperature for Chicago, lllinois is —27°F.
explain the meaning of the inequality. Write an inequality to compare the record

(Example 1) low temperatures. Then explain the meaning

of the inequality. (Example 1)

3. The table shows the freezing points for 4. The table shows the scores for players in a
gases. Order the gases from least to trivia game after the first round. Order the
greatest according to their freezing points. players from least to greatest according to
(Example 2) their scores. (Example 2)

Gas I Freezing Points (*C)
Argon -189 Ace -1
Carbon Monoxide —-205 Diana 3
Ethane -297 Jace -3
Helium —-272 Oneida -7
Oxygen -219 Nolan 5

Sulfur Dioxide -72 Rachel 1



5. Explain why an elevation less than -5 feet 6. Explain why a balance of less than —$10
represents a distance from sea level greater represents a debt greater than $10.

than 5 feet. (Example 3) (Example 3)

Test Practice

7. In a golf match, Jesse scored 5 over par, 8. Table Item Order the integers from
Neil scored 3 under par, Felipe scored least to greatest.
2 over par, and Dawson scored an even par.
Order the players from least to greatest 9,-8,-2,4,-9

OO least greatest

|
r’.\ 'YO/\ -
SN
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/ - >
Identify the quadrant in which each point is located. (Example 1)

t (-1 -23) 2 (5.3

2 (5:3%) o (-37.2)



5. Identify the axis on which the 6. Identify the axis on which the

point (-% 0) s located. (exampe 2 point (o. 6%) is located. (Example 2)
Use the coordinate plane. Identify the ordered pair v
that names each point. (Example 3) 15
+
7 A ALl Ly
8. B T2 1= o] {112 =
=+
T 2 B
-2}-¢
Use the coordinate plane. Identify the point for y
each ordered pair. (Example 4) 2 2
1 1 1
10.(3.5 Z
1 -2 |-1 |O 1 2
1. (-1. 15) 4
1 WQ Y#
12. (-2. —13) 2
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13. Graph A(



